SHMTE11B10B#IT
FEEREBESEE EFOHERICTOWVT

1 BEHR

£15 5 g8 B
% % & % & $ (R1.10.30 18 7£) 31,353 32,580 63,933
L B F #E F H 31,082 32,356 63,438
® R ) # 13,045 13,915 26,960
5 4 B # = 9,309 9,179 18,488
= 3 BH ®@l & =E 3,662 4614 8,276
" F E E OB = 74 122 196
& = R 41.97% 43.01% 42 .50%
2 FHAEHER
' E F % 26,960
B OE & 26,960
7 ®» B E 26,613
®; oYy k' E 347
moy R E XK 1.29%
% n = 0
B 5 R VYV E 0
3 BEHGEHSA)
= = = # .
=2 = 1@ & 4 =K A | BAEITEHEE| 3%
=R S
I |E% - |BERRER 5,925 7326 |
2 |¥Kk wac|BREER 4,438 5018
3 |&m 50| &#8 m B 1915 3,593
4 |hm zany| &8 OB 3,151 4,679
5 |EW 5~ |BEBREER 5,939 7093 | &
6 |kB rpz|BBEBRES® 5245 6736 | 4
i 26,613 34,445




